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Answer the following questions: :
v

Question one (10 marks) {
A) Gate AB is 5 m wide into the paper and

opens to let fresh water out when the
ocean tide is dropping. The hinge at A is
2 m above the freshwater level. At what 10m
ocean level h will the gate first open? F
Neglect the gate weight.
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B) The dam is a quarter circle 50 m wide l
into the paper. Determine the herizontal T |
. :,'
and—vertical—eomponents —of —the l
hydrostatic force against the dam and the 20 m|
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Question two (10 marks)

A) Compare between Uniform flow and Non-uniform flow.
T -
>
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* Uniform flow: the velocity at a given instant is the same in magnitude and direction at
every point in the flow.
* Non-uniform flow: the velocity at a given instant changes from point to point.

B) A pipe 4 cm diameter is connected in series to a pipe 8-cm diameter. For a
discharge of 6 lit/s, of a liquid of sp. gr. 0.9, the pressure before & after the
sudden enlargement was 2 bar & 2.04 bar. Calculate the head lost in the

enlargement. |
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C) 4 lit/s of a liquid of sp. gr. 0.95 flows through a 6-cm pipe. A venturl meter
with 3-cm throat diameter and Gy = 0.94 is used to measure the discharge
through the pipe. What would be the reading of a mercury U-tube connected
to the meter if the venturi is Horizontal.

Good Luck 212
Dr. Rola Afity



R = 4 x /53m3/jec_

sG = 0.95

dy = 6*/0'2197
h o7 P SG.=3-6€

S'OBA A' Az r —
@-q Tase 123 (e

Tl =B ){L/(o;oé)z lq"--(o,os)z 4 5.0
e F (00— .03 2478 (535 = Vh

h = 0. \BOZW\ = \'g s
J—
A nother solts
E, = Er + A(asr
|—=>Z
vt _ R Ve
el - w % - A
e Fotrzordod Tewa
Lt PP
2 ] = T M
2 ,_‘___ "’"‘L'Z' s 2’3 _fpi’e B ALOSS u—-‘?@
Q A2 A\ f} e
A,:—T_,T—O,f_ = —ZIT'(OC)Q)Z:: 2_82}*/{ m*
L 2
A, = :%:G’; = —7—[—-(003)2"' +.069 */0, m



|)k

(731
fa 3 L\——/33'él’\\><\\

e
rn (O |
(%~ 7]

o 0. 94\~
(4210%)° = [(, 4) e 1336k
[

b

(F-0634/0 ) (283007 %

x 29 [/3.3/5 A]

h —0./302 m

— [3.02 Cm



	Image (68)
	Image (69)
	Image (70)
	Image (71)
	Image (72)

